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HE: MEEAXY
o9l sa=d (S92
| = ol = = 1% I|_-|LI;=|_||:_ =
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ofl At ot HwsZ
A 370,660
OJT&X MY (10HAIHI0ISE)
312,337,002 * 14 312,337
03 Al& S OHH| 6,380 4,786 1,594
OFBE&X ZLALY 6,380,0008 * 14! 6,380
= 4,466
= 574
Al 1,340
SEHE &K =AY 286,000 0 286,000
= 200,000
= 26,000
Al 60,000
401 AEHI LS 286,000 0 286,000
= 200,000
= 26,000
Al 60,000
01 Al&d| 286,000 0 286,000
O=THSSNSAAY 286,000,000 * 14 286,000
= 200,000
= 26,000
Al 60,000
MENEX ZoBR 3,400 217,597 ~214,197
201 Ygreg| 3,000 9,400 6,400
01 AtR2elt] 2,000 6,400 A4,400
OMEHS X 2ralZHl 2
10,0002 * 25 * 1004 * 53l 1,000
OXHAA 242 50,0008 * 4XE * 53] 1,000
02 IZ2Y| 1,000 3,000 A2,000
OA&ZHI R bl 1,000
oMEISX AEE RX B2
1,0002 * 20,000 * 5% 1,000
206 T2 bl 400 8,500 A8,100
01 T2l 400 8,500 A8,100
OHlg 2 59 7
10,0008 * 2% * 10Z * 23| 400
s4=ANL2H B 2,000 2,000 0
202 01t 2,000 2,000 0
01 =Ujoi | 2,000 2,000 0
O&+=@ AFZEXOH 2,000,002 * 14 2,000
HHSHAY (NI =R 10,700 10,700 0
o= 2 bl 10,700 10,700 0
2 10,700 10,700 0
201 Ygreg| 5,300 5,300 0
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A3 AEBHR SN SEBEANMAL SR
o X2l YEI|DE
Sl CRYFAAL (el &2
- _ _ Muo
AR .2 (FH) - NRAY - BAES Ofl AF o4 il b o HRE2
BB WAL SR C 383,700 199,400 189,300
Aeld3elgta= 372,900 124,560 248,340
SRYFAAY 185,900 96, 700 89,200
TEY U ASHSLOAY 178,900 90,400 83,500
201 Let2d| 158,900 80,400 78,500
01 AtE22|Hl 22,400 44,400 222,000
OS28F4 XIFE |02 MHY S
1002 * 75,0008 * 23| 15,000
OS2YFALAS SBN 22
70,000& * 10& * 23l 1,400
OASHSTW(NE, FUIS) HEE 2E7Y
10,000& * 600K 6,000
02 2323l 136,500 36,000 100,500
OS2YF4 QBN LBE2
2,000& * 65,0004 130,000
ON&E(E2HT S)eH2E2
12,500,000& * 0.008 6,500
401 AlEHIL ST 20,000 10,000 10,000
01 Al&H| 20,000 10,000 10,000
OS2YFA GHUAIL(SRHE 2,100044) 2
cl Al 2 Hl 400,000 * 5000 & 20,000
CREFAALSSZY 7,000 6,300 700
202 O4Hl 7,000 6,300 700
01 =LA bl 7,000 6,300 700
O SRYFAANY U GISTY ALEX HY)
7,000,000& = 14l 7,000
S AIJIBEAIE GIS DB 7= 187,000 27,860 159, 140
ANeld29 geld 249 187,000 27,860 159,140
201 et 87,000 27,860 59,140
01 ALR eIt 87,000 27,860 59, 140
Oget=gHl 87,000
CENZHRBY SN+
500,0002! * 42 22,000
oX2l¥E Bylmal (75
5,000,000& = 14l 5,000
oXIBHALZ(GIS)BRINAY SN2
15,000,000& * 4=27| 60,000
401 Al&HI LS04I 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OGISKIZ Al 2 FIIRH(3HES)
100,000,000& * 14 100,000
HHSHFY (BB HM LAY Z TS 15,800 19,400 A3,600
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